BIDRESULTS

W912P8-07-B-0041 West Atchafalaya Basin Protection Levee Recreational Element of the Atchafalaya Basin Floodway System, Myette Point Boat Launch, St. Mary Parish, Louisiana ED-02-076

1. K.A.S. Construction, LLC	(APP LOW)	(SHZ)	\$3,896,930.00
2. Great Southern Dredging		(S)	\$4,000,000.00
3. Truckla Services, IncContractor's Extensions for Items 0004 and 0006 and Final Total were	e incorrect, but did not affect bid outcome.	(SHZ)	\$4,020,695.20

ABSTRACT OF OFFERS - CONSTRUCTION			1. SOL	ICITATION N W912P8-	UMBER 07-B-0041	2. DATE ISSI 29 JUI	UED N 2007	3. DATE OF 13 AU	PENED JG 2007	PAGE 0F PAGES				
4. ISSUING OFFICE US ARMY ENGINEER DISTRICT, NOD P.O. BOX 60267 NEW ORLEANS, LA 70160-0267					ave opened, read, is abstract all	NAME AND TI	TLE OF CERTIF							
IINREST	IINDESTRICTED				esponse to this	SIGNATURE DATE SIGNED								
5. PROJE	ECT TITLE				ENT ESTIMATE		NO 4		NO 0					
	chafalaya Basin Protection Levee Ro of the Atchafalaya Basin Floodway		(Check)	A. HIRED	complete D, E, and F) LABOR	A. OFFEROR K.A.S. C	NO. 1 R Construction,	LLC	B. OFFEROR Great Sou	NO. 2 B. OFFEROR Great Southern Dredging			NO. 3	
		Louisiana ED-02-076	B. REASONABLE CONTRACT (Without Profit)			P.O. Box		·	P.O. Box 1		-	B. BID SECURITY (Type and amount)		
6. NUMB	ER OF AMENDMENTS ISSUED 0001				DNABLE CONTRACT ng Profit)		ENTS ACKNOW e, LA 70581	LEDGED		TS ACKNOWLEDG e, LA 70470	GED	C. AMENDMENTS ACKNOWLEDGED		
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED	E. ESTIMA AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT	
0001	Mobilization and Demobilization	01	LS		137,207.00		300,0	00.00		281,810	0.00		250,000.00	
0002	Straw Bale Barrier	2,500	LF	6.60	16,500.00	6.00	15,00	00.00	3.00	7,500.	00	9.00	22,500.00	
0003	Geotextile Separator	9,200	SY	3.50	32,200.00	3.00	27,60	00.00	1.00	9,200.	00	4.75	43,700.00	
0004	Wick Drains	24,570	LF	2.10	51,597.00	3.00	73,7	10.00	2.00	49,140	.00	2.37	58,353.75	
0005	Settlement Gages	05	EA	810.00	4,050.00	1,500	7,50	0.00	500	2,500.	00	776.25	3,881.25	
0006	Underdrain Pipe	240	LF	10.80	2,592.00	19.50	4,68	0.00	10.00	2,400.	00	4.75	547.00	
0007	Non-Plastic Drainage Layer	3,430	CY	59.50	204,085.00	34.50	118,3	35.00	20.00	68,600	.00	71.25	244,387.50	
0008	Demolition	01	LS		28,757.00		25,00	00.00		40,000	.00		32,330.00	
0009	Clearing and Grubbing	01	LS		29,612.00		175,0	00.00		100,000	0.00		25,000.00	
0010	Temporary Retaining Structures	01	LS		221,187.00		155,000.00			400,000	0.00		269,317.50	
0011	95%Compacted Embankment	46,000	CY	13.90	639,400.00	19.25	885,5	00.00	17.00	782,000	0.00	15.00	690,000.00	
0012	90% Compacted Embankment	13,600	CY	18.70	254,320.00	17.75	241,4	00.00	16.00	217,600	0.00	19.625	266,900.00	

ABSTRACT OF OFFERS - CONSTRUCTION				CITATION N W912P8-	uмвек 07-B-0041	2. DATE ISSI 29 JUI	UED N 2007	3. DATE OP	PENED JG 2007	PAGE 0F	PAGES	•		
4. ISSUING OFFICE US ARMY ENGINEER DISTRICT, NOD P.O. BOX 60267 NEW ORLEANS, LA 70160-0267					ave opened, read, is abstract all	NAME AND TITLE OF CERTIFYING OFFICIAL (TYPE)						•		
HNDEST	INRESTRICTED				esponse to this	SIGNATURE				DATE SIGNED				
5. PROJE	CT TITLE				ENT ESTIMATE			9. O	FFERS					
	hafalaya Basin Protection Levee Roof the Atchafalaya Basin Floodway		(Check A	A, B or C and A. HIRED	complete D, E, and F) LABOR	A. OFFEROR	NO. 1		B. OFFEROR	NO. 2		B. OFFEROR	NO. 3	
Myette P	oint Boat Launch, St. Mary Parish,	Louisiana ED-02-076			DNABLE CONTRACT ut Profit)	B. BID SECU	RITY (Type and	I amount)	B. BID SECURI	TY (Type and amo	ount)	B. BID SECURITY (Type and amount)		
6. NUMB	6. NUMBER OF AMENDMENTS ISSUED 0001			C. REASONABLE CONTRACT (Including Profit)			C. AMENDMENTS ACKNOWLEDGED			C. AMENDMENTS ACKNOWLEDGED			S ACKNOWLEDGED	
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED	F. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATEI AMOUNT	D	D. UNIT PRICE	E. ESTIMATED AMOUNT	
0013	Excavation	2,700	CY	5.40	14,580.00	8.00	21,600.00		20.00	54,000	0.00	6.00	16,200.00	
0014	6' Precast – Prestressed Concrete Floating Docks	80	LF	1,926.50	154,120.00	1,250	100,0	00.00	1,000	80,000	0.00	2,337.62	187,009.60	
0015	8' Precast – Prestressed Concrete Floating Docks	126	LF	1,130	142,380.00	1,350	170,	100.00	1,250	157,500	0.00	1,370	172,620.00	
0016	Steel Sheet Piles	2,476	SF	21.00	51,996.00	35.00	86,6	60.00	20.00	49,520	0.00	23.12	57,245.12	
0017	12" Steel Pipe Piles	954	LF	84.00	80,136.00	135.00	128,7	790.00	30.00	28,620	0.00	101.25	96,592.50	
0018	Timber Piles	240	LF	38.10	9,144.00	48.00	11,5	20.00	20.00	4,800.	.00	45.75	10,980.00	
0019	Not Used													
0020	Water Distribution System	01	LS		243,472.00		248,0	00.00		400,000	0.00		285,000.00	
0021	12" Road Bore	104	LF	113.00	11,752.00	110.00	11,4	40.00	150.00	15,600	0.00	126.00	13,104.00	
0022	4" Sch. 40 P.V.C Sewer Main	232	LF	37.00	8,584.00	15.00	3,48	80.00	30.00	6,960.	.00	45.00	10,440.00	
0023	No. 1 Aggregate Subbase Course	195	CY	109.00	21,255.00	82.00	15,9	90.00	200.00	39,000	0.00	115.00	22,425.00	
0024	No. 8 Aggregate Base Course	100	CY	84.90	8,490.00	84.00	8,40	00.00	200.00	20,000	0.00	90.00	9,000.00	

ABSTRACT OF OFFERS - CONSTRUCTION			1. SOL	ICITATION N W912P8-	UMBER 07-B-0041	2. DATE ISSI 29 JUI		3. DATE OP 13 AU	ENED JG 2007	PAGE 0F	PAGES	•			
US A P.O. NEW	4. ISSUING OFFICE US ARMY ENGINEER DISTRICT, NOD P.O. BOX 60267 NEW ORLEANS, LA 70160-0267			IFY that I ha	ave opened, read, is abstract all	NAME AND TI	TLE OF CERTIF								
IINPEST	IINDECTRICTED				esponse to this	SIGNATURE DATE SIGNED									
5. PROJE	ECT TITLE				ENT ESTIMATE										
	chafalaya Basin Protection Levee Roof the Atchafalaya Basin Floodway		(Check /	A, B or C and A. HIRED	complete D, E, and F) LABOR	A. OFFEROR	NO. 1		B. OFFEROR	NO. 2		B. OFFEROR	NO. 3		
Myette P	oint Boat Launch, St. Mary Parish,	Louisiana ED-02-076	B. REASONABLE CONTRACT (Without Profit)			B. BID SECU	RITY (Type and a	amount)	B. BID SECURITY (Type and amount)			B. BID SECURITY (Type and amount)			
6. NUMB	6. NUMBER OF AMENDMENTS ISSUED 0001			C. REASONABLE CONTRACT (Including Profit)			C. AMENDMENTS ACKNOWLEDGED			C. AMENDMENTS ACKNOWLEDGED			C. AMENDMENTS ACKNOWLEDGED		
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED		G. ESTIMATED AMOUNT		E. ESTIMATI AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT		
0025	Aggregate Surface Course	5,525	CY	79.00	436,475.00	78.00	78.00 430,950.00		60.00	331,50	00.00	112.00	618,800.00		
0026	Aggregate Surface Course (Maintenance)	200	CY	78.90	15,780.00	85.00	85.00 17,000.00		100.00	20,00	0.00	112.00	22,400.00		
0027	Plastic Pavement Striping and Marking	01	LS		1,948.00		4,000.00			20,00	0.00	I	5,000.00		
0028	Fertilizing and Seeding	1.7	AC	1,960	3,332.00	1,550	2,63	5.00	3,000	5,100	0.00	2,000	3,400.00		
0029	Concrete Boat Ramp	674	SY	114.00	76,836.00	185.00	124,6	90.00	175.00	117,9	50.00	108.00	72,792.00		
0030	Concrete Apron	1,500	SY	85.10	127,650.00	125.00	187,5	00.00	175.00	262,50	00.00	83.25	124,875.00		
0031	Comfort Station Building	01	LS		40,623.00		75,00	00.00		75,00	0.00	I	65,000.00		
0032	Precast Concrete Barriers	610	EA	56.00	34,160.00	60.00	36,60	00.00	50.00	30,50	0.00	65.00	39,650.00		
0033	Dock Support Structures	01	LS		31,169.00		17,500.00			50,00	0.00		40,000.00		
0034	Aluminum Gangway (5' Wide)	106	LF	487.00	51,622.00	425.00	425.00 45,050.00		450.00	47,70	0.00	587.00	62,222.00		
0035	Aluminum Gangway (6' Wide)	60	LF	552.30	33,138.00	575.00	34,50	00.00	500.00	30,00	0.00	691.00	41,460.00		
0036	Vinyl Decking	50	SF	44.70	2,235.00	30.00	1,50	0.00	150.00	7,500	0.00	55.00	2,750.00		

NSN 7540-01-150-0981 501419-101

NOTE: If more than two offers are received, continue on OF 1419A.

OPTIONAL FORM 1419 (11-88) Prescribed by GSA - FAR (48 CFR) 53.236-1

ABSTRACT OF OFFERS - CONSTRUCTION			PAGES							ı				
US A P.O.	NG OFFICE RMY ENGINEER DISTRICT, NOD BOX 60267 / ORLEANS, LA 70160-0267	I CERTIFY that I have opened, read, and recorded on this abstract all					TLE OF CERTIFYII							
IINPEST	rpicten			eceived in re	esponse to this	SIGNATURE	SIGNATURE DATE SIGNED							
5. PROJE	ECT TITLE		8. (OVERNMI	ENT ESTIMATE		9. OFFERS						NO	
	chafalaya Basin Protection Levee Roof the Atchafalaya Basin Floodway		(Check A	A. HIRED	complete D, E, and F) LABOR	A. OFFEROR	NO. 1		B. OFFEROR	NO. 2		B. OFFEROR	NO. 3	
-		Louisiana ED-02-076			DNABLE CONTRACT ut Profit)	B. BID SECURITY (Type and amount) B. BID SECURITY				ID SECURITY (Type and amount)		B. BID SECURITY (Type and amount)		
	6. NUMBER OF AMENDMENTS ISSUED 0001			C. REASONABLE CONTRACT (Including Profit)			ENTS ACKNOWLE		C. AMENDMENTS ACKNOWLEDGED			C. AMENDMENTS ACKNOWLEDGED		
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED	H. ESTIMATEI AMOUNT	D	D. UNIT PRICE	E. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT	
0037	Painting	01	LS		951.00		6,500.	6,500.00		7,500.00)		3,500.00	
0038	Signs	06	EA	739.00	4,434.00	300.00	1,800.	00	500.00	3,000.00)	1,215.00	7,290.00	
0039	Prefabricated Biochemical Wastewater Treatment Plant	01	LS		19,547.00		17,500.00			25,000.00	0		6,000.00	
0040	Plumbing	01	LS		37,464.00		21,000.00			25,000.00	0	1	45,000.00	
0041	Electrical	01	LS		66,087.00		- 38,500.00			125,000.0	00		73,000.00	
		TOTAL			3,350.867.00		3,896,93	0.00		4,000.000.	00		4,020,695.20	

NSN 7540-01-150-0981